Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
System: JGOB?LECD display 0%_GO Fp=(*m =~ L)/ - L* )
CIELAB-Bunttonwinkel:
hab,¢=[46, 101, 131, 196, 306, 326«
hab,¢=[46, 101, 131, 196, 306, 326]

YOOL

lap =1 japr = C¥japs [*m = 0.5]
1ab* €41+ =C*ap,a/ C*an,am
M=Maximalfarbe

% *jap+=C*jap+ COS

b* 13+ =C*jape SiN hyy

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p, o L*) und relativesCIELAB ( c*, t*)

System: JGOB?LECD display 0,6%_G0 |« M= L) - L* )
CIELAB-Bunttonwinkel:
hab, =43, 101, 131, 196, 305, 326«
hab =143, 101, 131, 196, 305, 326]
YOOL
9 jap+=C*jap» COS hpy
b*|ap=C*jap+ SIN hap

lap =1 japr = C¥japs [*m = 0.5]
1ab* €41+ =C*ap,a/ C*an,am
M=Maximalfarbe

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p, o L*) und relativesCIELAB ( c*, t*)

System: JGOB?LECD display 1,3%_G0 |« M= L) - L* )
CIELAB-Bunttonwinkel:
hab¢=[41, 101, 131, 196, 305, 326«
hab a¢=[41, 101, 131, 196, 305, 326]
YOOL
¢ jap»=C"jap» COS By
b*|ap=C¥jap+ SIN hap

lap =1 japr = C¥japs [*m = 0.5]
1ab* €41+ =C*ap,a/ C*an,am
M=Maximalfarbe

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p, o L*) und relativesCIELAB ( c*, t*)
System: JGOB?LECD display 2,5%_G0 |« M= L) - L* )
CIELAB-Bunttonwinkel:
hab ¢=[38, 101, 132, 196, 304, 3265*
hab (38, 101, 132, 197, 304, 326]
YOOL

lap =1 japr = C¥japs [*m = 0.5]
1ab* €41+ =C*ap,a/ C*an,am
M=Maximalfarbe

¥ *jap+=C*jap+ COS

\ b*ja+=C*jape SiN hyy

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p, o L*) und relativesCIELAB ( c*, t*)
System: JGOB?LECD display 5%_GO0 Fp=(*m =~ L)/ - L* )
CIELAB-Bunttonwinkel:
hab ¢=[34, 102, 133, 196, 302, 3265*
Nab a¢=[34, 102, 133, 197, 302, 326]
YOOL

lap =1 japr = C¥japs [*m = 0.5]
1ab* €41+ =C*ap,a/ C*an,am
M=Maximalfarbe

? *jap+=C*jap+ COS M

il Y

5 |a=C*jape SiN hyp

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p , L*) und relativesCIELAB ( c*, t*)
System: JGOB?LECD display 10%_GO |« M= L) - L* )
CIELAB-Bunttonwinkel:
hab ¢=[30, 103, 135, 197, 300, 3265*
hab4¢=[30, 103, 135, 197, 300, 326]

YOOL

lap =1 japr = C¥japs [*m = 0.5]
1ab* €41+ =C*ap,a/ C*an,am
M=Maximalfarbe

2%t =C*japy COS hyy
£*ap+=C"ap+ SN hap

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
System: JGOB?LECD display 20%_GO |« M= L) - L* )
CIELAB-Bunttonwinkel:
hab, =126, 104, 137, 197, 296, 325«
hab (26, 104, 137, 197, 296, 325]

lap =1 japr = C¥japs [*m = 0.5]
1ab* €41+ =C*ap,a/ C*an,am
M=Maximalfarbe

a%jap+=C*jap» COS hpy
b*i95+=C*jap+ SiN hyp

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
System: JGOB?LECD display 40%_GO |« M= L) - L* )
CIELAB-Bunttonwinkel:
hab, =123, 106, 139, 198, 293, 324}«
hab ¢=[23, 106, 140, 198, 293, 324]

lap =1 japr = C¥japs [*m = 0.5]
1ab* €41+ =C*ap,a/ C*an,am
M=Maximalfarbe

a%jap+=C*jap» COS hpy

b*jap*=C*jap+ SiN hyp

relative Buntheit
ajab*




